1-2 Exponents and Order of Operations
I can simplify expressions and formulas. 
I can evaluate expressions and formulas.

I can use the order of operations to evaluate and simplify expressions and formulas.  

Vocab:

Simplify:__________________________________________________________________
_________________________________________________________________________

Exponent:_________________________________________________________________
________________________________________________________________________

Base:____________________________________________________________________
_________________________________________________________________________

Power:____________________________________________________________________

_________________________________________________________________________

Order of Operations:________________________________________________________________
_________________________________________________________________________
Evaluate:__________________________________________________________________

_________________________________________________________________________

	Simplify
4 + 6(8)
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Simplify



	Simplify

4 ( 32 + 2


	Simplify
40 ( 5(2)

	Simplify
2.7 + 3.6 *4.5

	Simplify
3[4(8 – 2) + 5]

	Simplify

4 + 3(15 – 23)

	Simplify

3[4(8 – 2) + 5]

	Evaluate the expression for a = 1 and b = 2.
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	Evaluate the expression for m = 6 and n = 15
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	Evaluate the expression for  x = 3.4 and y =3


 x + 3y2
 
	Evaluate the expression for a = 5 and b = 2

7a – 4(b + 2) 



	Simplify
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	Simplify
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	Simplify
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	Simplify

14 + 3 ( 4

	Simplify

5(32 + 2) – 2(62 – 52)


	Simplify
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	Use the expression r + 0.12m to calculate the cost of renting a car. The basic rate is r. The number of miles driven is m.
The basic rate is $15.95. The car is driven 150 mi.

	Use the expression r + 0.12m to calculate the cost of renting a car. The basic rate is r. The number of miles driven is m.

The basic rate is $32.50. The car is driven 257 mi.



	Evaluate the formula P = 2L + 2W for a rectangle with a length of 7 cm and a width of 3 cm.  


	Evaluate the formula P = 2L + 2W for a rectangle with a length of 10 m and a width of 9 m.  




1. Explain why we need to follow the order of operations. 
